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1. Ts wirtprd wnerchine hacdwire or soflware ¥ Drew a fpoe 10 Gadicite e its

redinlionship with physical hasdwarc, opeeating svstem s and spplication proccascs.
(1%

3. As we know the shirtest-jali-fist scheduling is the best schedwling method in s
af the avetage waiting, time, Flesse ansaer the flowing questions: m) what i the
thiliculty it =uflers, b) how 4o solve the diffeslly, aod 6 under which CPU barst
paitert we can 2ol Better aclicveniew bzl o the mothad on b {10030

3. Deteemins the followang, staremenls frye or folre and briclly explain your answer,
{1094)

a) Twrg tasks ard execuled picmicelly mcens thet they are execoted in soquential.
h) Twn Lusks are excouled concurrenily efaey moer nagzan that they arc exceuled in

paurollel.
@) The systenn provides mudipregramining hos the sziee neaning with that the

gy sbmt prevides muliiprocessing.
4] T proesses or gxacuted synelwonausly micans tha they are cxeculed inthe

dame begin 1me,

d, Deseribe why LRI {Least Recendy [aod) pape-replacsment algarithm iz &
praeticil alierrigive appronch 1o the eplimal algocidton. En gther words. why 1k

optima) Mgorithimg is vos practicu] ard why ERLU is an aliermative one 4o L
{104}

7. The disk cache and R34 ek g dvae of the methods o beprowe the performance
of a file system. Repbain the veason and Lheir dilforencas, ¢ L0g%)

) What is firewal! 7 Wiy 11 iy impartant n leonz of lawnel services.
b} Comysare ticeual And packet swwitchinps. [ 0%

7. o thal fhe following arammar
5 Az | bac | Be | bBa
A = 4
B = 4
ie LR LY bt not LALR(L). - 0%
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£, Led symdhesized atiribote vl give e value of the bnacy number genemled by 50

s Follenving gravenar. For example, oninput DL L0, Svad = 5625
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Planzs vge sywthesized ativibotes to dosermine & val. (1094}
{Hint; the nwarher of Tisary digit 1. s needel in detoomining Soaml

% T &, e "“for'™ stetement has the fallowing (oo

T B X N )
Taking ils meimiage 1o be
el ;
artdde [ &2 ) 4
FRRT
e},
h
(8} Ploase leanslale K6 meaming inlo thress wddnass code, 0%
(b} Ploase constuct i synlax-directed defintion 1 wanslate Csovle for
stadeirenz into three-addeess cade. ' (103




